
%d;whk; jtizg;guPl;ir – 2019 
Kaw;rpahz;ikf; fy;tp 

juk; 10 
  Gs;sp toq;Fk; jpl;lk; 

gFjp 1 
 

 

 

 

 
 

(1×25= 25 Gs;spfs;)  

                           gFjp 11 

tpdh ,y01 

(1) A) cz;ik   B) ngha;     (2× 1 =02 Gs;spfs;) 

(2) el;l,lu; cau;thapd; mjd; ed;ikfSk; cau;thFk;. el;l ,lu; Fiwntdpd; ed;ikfs; 
FiwthFk;.         (02 Gs;spfs;) 
   

(3) 1. tsg;gupkhw;wk; nra;jy; 
2. nfhLf;fy;> thq;fy;fs; njhlu;r;rpahf ,lk;ngwy; 
3. Nehf;fnkhd;W fhzg;gly; 
4. el;lmr;rk; fhzg;gly; 
5. tpiyapd; mbg;gilapy; nfhLf;fy; thq;fy; ,lk;ngwy; 

6. nghUshjhu eltbf;ifnahd;whf mikjy;         (2× 1 =02 Gs;spfs;) 
   

(4) khztu;fspd; ,uz;L cjhuzj;jpw;Nfw;g 02 Gs;spfs; 
(5) 1. r%f uPjpahf Vw;gLfpd;w mq;fPfhuk; 

2. jiyikj;Jtk; fpilf;fpd;wik 
3. GfOk; ghuhl;Lf;fSk; fpilf;fpd;wik     (2× 1 =02 Gs;spfs;) 
          (nkhj;jk; 10 Gs;spfs;) 

tpdh ,y 02 

(1) 1. nghUshjhur; nraw;ghLfspy; <LgLjy;  2. el;l ,lUf;F Kfk;nfhLj;jy; 
3. nfhLf;fy; thq;fy;fspy; <LgLjy;  4. tsq;fisg; gad;gLj;jy; 
5. Nghl;bf;F Kfk; nfhLj;jy;   6. Ra Cf;Ftpg;G fhzg;gly; 
7. cw;gj;jp> nfhs;tdT> tpw;gid njhlu;gpy; jPu;khdnkLj;jy; 

8. njhlu;e;J epiyj;jpUj;jy; njhlu;gpy; rpe;jpj;jy;  (2×1 = 2 Gs;spfs;) 

(2) A) Neu; kdg;ghq;F    B) J}uNehf;F  (2×1 = 2 Gs;spfs;) 

(3) 1. Muk;gj;jpNyNa cUthFk; 
2. tiuaWf;fg;gl;lJ 
3. rfyUf;Fk; nghJthdJ 

4. gpwg;gpNyNa cUthFk;      (2×1 = 2 Gs;spfs;)  

   
(4) rpw;wsT tzpfq;fspd; gq;fspg;G 

 Ntiytha;g;G mjpfupj;jy; 
 Njrpa cw;gj;jp mjpfupj;jy; 
 jdpegu;fSf;fpilapy; tUkhdg;gq;fPl;L Vw;wj; jho;T Fiwtiljy; 
 ghupastpyhd tzpfq;fspd; %yk; toq;fg;glhj nghUl;fs; kw;Wk; Nritfis toq;Fjy; 
 fhy khw;wj;jpw;Nfw;g ghupasT tzfkhf khw;wkiljy; 

tpdh 
,y 

tpil 
,y  

tpdh 
,y 

tpil 
,y  

tpdh 
,y 

tpil 
,y  

1. 3 11. 4 21. 4 
2. 1 12. 2 22. 2 
3. 2 13. 1 23. 3 
4. 3 14. 4 24. 4 
5. 1 15. 1 25. 3 
6. 4 16. 1   
7. 3 17. 3   
8. 4 18. 2   
9. 2 19. 1   
10 3 20. 3   



 cs;ehl;L mwpT kw;Wk; tsk; gad;gLj;jg;gly;       (2×1 = 02 Gs;spfs;) 
 

(5) cupikahsupd; tfpgq;F 
Kfhikahsupd; tfpgq;F 
jiytupd; tfpgq;F        (02 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 

tpdh ,y 03 

(1) A) cupikahsu; B) Kfhikahsu; C) cupikahsu; D) jiytu; 
(2) 1. epjp> epu;thff; fUkq;fs; gytPdkhftpUj;jy; 

2. Nghl;b epiyikf;F Kfk;nfhLf;f Ntz;bapUj;jy; 
3. Kiwahd jpl;lkplypd;ik 
4. tsq;fs; rupahf epu;tfpf;f Kbahik 
5. eilKiw mDgtk; Nghjhik 

6. gytPdkhd khdplj; njhlu;G       (2ù1= 02 Gs;spfs;) 
(3) 1. Fiwe;jsT %yjdj;Jld; Muk;gpf;fKbjy; 

2. cs;ehl;Lj;njhopy;El;gk; gad;gLj;j Kbjy; 
3. Rw;whly; khw;wq;fSf;F ,yFthf Kfk;nfhLf;f Kbjy; 
4. murpd; Cf;Ftpg;Gf;fs; fpilj;jy; 
5. Copau;fis ,izj;jy;> gapw;rpaspj;jy; ,yF 
6. Copau;fspd; jpwd;fspy; ,Ue;J cau;e;jgl;r ed;ik ngwy; 
7. Copau;fs; Nkyjpf trjpfis vjpu;ghu;f;fhik 

8. FLk;gj;jpdupd; gq;fspg;G ngw Kbjy;      (2ù1= 02 Gs;spfs;) 
 

(4) 1. njhopy;El;gj;jpwd;  2. khdplj;jpwd;  
3. vz;zf;fU uPjpahd jpwd;fs; 4. FOf;fSld; nraw;gLk; jpwd;fs; 
5. njhlu;ghly; jpwd;fs;  6. MNyhridj;jpwd;fs; 

7. Kd;khjpupahf nray;gLk; jpwd;fs;          (4×1/2 = 2 Gs;spfs;) 
(5) 1. tzpfj;jpw;Fupa gyk;> gytPdq;fis mwpa Kbjy; 

2. tzpfr; re;ju;g;gq;fis ,dq;fhdy; 
3. rthy;fis ,dq;fhz KbAk; 
4. #oy; khw;wq;fSf;F nghUj;jkhd tifapy; cw;gj;jp> kw;Wk; tpw;gid eltbf;iffis 
  nfhs;sy; 
5. #oy; khw;wq;fSf;Nfw;g jpl;lq;fis tFj;jYk;> cgha khu;f;fq;fis jPu;khdpj;jYk; 

(1×2 = 2 Gs;spfs;) 
  (nkhj;jk; 10 Gs;spfs;) 

tpdh ,y 04 

(1) A) gyk;  B) gytPdk;  C) gyk;  D) gytPdk;  (4×1/2 = 2 Gs;spfs;) 

(2) A) kf;fl;#oy;   B) njhopy;El;gr;#oy;      (2ù1= 02 Gs;spfs;)  
(3) Gwr;#oy; fhuzpfspy; tzpfj;jpw;F kpfTk; neUf;fkhfr; nraw;gLfpd;w rf;jpfis cs;slf;fpa 

#oiyf; Fwpf;Fk;.         (02 Gs;spfs;) 
(4) khztupd; nghUj;jkhd cjhuzj;jpw;F 02 Gs;spfs; 
(5)  1. Gjpa tUkhd khu;f;fq;fis cUthf;Fk; Mw;wiy mjpfupj;Jf;nfhs;tjw;F 

 2. Nghl;br; re;ijfSf;F ntw;wpfukhf Kfk;nfhLg;gjw;F 
 3. gad;gLj;jhj tsq;fis cr;rkhfg; gad;gLj;Jtjw;F 
 4. ntw;wpfukhf tzpfr; re;ju;g;gq;fis mile;J nfhs;tjw;F 
 5. #oy; gpur;rpidfis Fiwj;Jf;nfhs;tjw;F 
 6. jdpj;Jtkhd tsq;fisg; ghJfhf;fTk;> vjpu;fhyr; re;jjpapdUf;Fr; Nrkpf;fTk; 

          (2×1 = 2 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 
 
 
 
 
 



tpdh ,y 05 

(1) 1. nrhe;jr; Nrkpg;G  
   2. jdf;Fupa nrhj;Jf;fis <LgLj;jy; my;yJ tpw;wy; 
   3. ez;gu;fs;> cwtpdu;fsplk; fld;ngwy; 

   4. tq;fpf;fld; 5. thbf;ifahsuplk; Kw;gzk; ngwy;        (4×1/2 = 2 Gs;spfs;) 
(2) 1) Efu;Nthu; vz;zpf;ifAk; mtu;fsJ gutYk; 

2) %yg;nghUl;fis ngWtjw;fhd trjp 
3) Copau;fis ngWtjw;fhd trjp 
4) cl;fl;likg;G trjpfis ngWtjw;fhd trjp 
5) nghJey trjpfs; 

6) ,lj;jpw;fhd nryT     (4×1/2 = 2 Gs;spfs;) 

(3) khztupd; nghUj;jkhd tpilf;F  (2×1 = 2 Gs;spfs;) 

(4) khztupd; nghUj;jkhd tpilf;F  (2×1 = 2 Gs;spfs;) 

(5) khztupd; nghUj;jkhd tpilf;F  ( 2 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 
 
tpdh ,y 06 

(1) #oypy; cs;s gpur;rpidfSf;F jPu;Tfshf kdpj Njit kw;Wk; tpUg;gj;ij epiwT nra;fpd;w 
tzpfg; ngWkhdKila rpe;jidfs;    (02 Gs;spfs;) 

(2) 1. Njitahd tsq;fisg; ngwf; $bajhf ,Uj;jy; 
2. Nfs;tp fhzg;gly; 
3. ftu;r;rpfukhd tUkhdk; fpilj;jy; 
4. Nghl;bj;jd;ik  

5. rl;ljpl;lq;fSf;F cl;gLjy;            (2×1=2Gs;spfs;) 
 

(3) KOg;gFg;gha;T> #l;Rkkhd gFg;gha;T> SWOT gFg;gha;T vd;gtw;iw Nkw;nfhs;tjd; tzpf 
tha;g;gpid njupT nra;Jnfhs;sKbAk;.   (02 Gs;spfs;) 

(4) 1. re;ij fhzg;gLjy; 
2. %yg;nghUisg; nghUisg; ngWtjpYs;s trjp 
3. Njitahd %yjdj;ijg; ngwf; $ba trjp 
4. mur rl;ljpl;lk;> nfhs;if> Cf;Ftpg;G 
5. Nghl;bj;jd;ik 
6. Kaw;rpahsupd; mwpT> Nju;r;rp kw;Wk; gw;W 
7. Copau;fisg; ngWtjw;fhd Mw;wy; 
8. ,lu;  

9. tpupTgLj;Jtjw;fhd trjp     (4×1/2 = 2 Gs;spfs;) 
       

(5) Mf;fTupikg;gj;jpuj;ijg; ngwy;     (02 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 
 
 
 
 

 

 

      


